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11–1

1. � f(x1, · · · , xn) ����� K ��� n ����������� .���
: �� �!�"���� K ��� n ������� g(x1, · · · , xn) # h(x1, · · · , xn), $

f(x1, · · · , xn) = g(x1, · · · , xn)h(x1, · · · , xn),%
g(x1, · · · , xn) # h(x1, · · · , xn) &�'������������ .(�)

: � deg f = m, deg g = k, deg h = l. *
g = gp + gp+1 + · · · + gk, h = hq + hq+1 · · · + hl,+�,

gi, hj -�.�/ i, j ����������� , 0 gp, hq � -�1 , ����2�3������������ , k + l = m,
%

f = gphq +

m
∑

t=p+q+1





∑

i+j=t

gihj



 .

4�5�6
p + q < m 7 f 8������������ . 9 p + q = k + l = m :�;�< p = k, q = l,

4�5
g = gk, h = hl '

����������� .

2. � f(x, y) ∈ K[x, y].
���

: �� f(x, x) = 0,
%

x − y | f(x, y).(�)
: � f(x, y) =

n
∑

k=0

ak(x)yk,
%

f(x, y) = f(x, y) − f(x, x) =

n
∑

k=0

ak(x)(yk − xk)

= (y − x)

n
∑

k=1

ak(x)(yk−1 + yk−2x + · · · + yxk−2 + xk−1).

4�5
x − y | f(x, y).

∗3. =�>�?�@�A�@�� :

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

1
x1 − a1

1
x1 − a2

· · · 1
x1 − an

1
x2 − a1

1
x2 − a2

· · · 1
x2 − an

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
1

xn − a1

1
xn − a2

· · · 1
xn − an

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

.

B
: C�D�A�@���E / Dn(x1, · · · , xn, a1, · · · , an).

%
Dn(x1, · · · , xn, a1, · · · , an) =

G(x1, · · · , xn, a1, · · · , an)

F (x1, · · · , xn, a1, · · · , an)
,

+�,
G # F '�� x1, · · · , xn, a1, · · · , an ������� . F�G

F (x1, · · · , xn, a1, · · · , an) =
∏

16i,j6n

(xi − aj).

HJI
Dn(x1, · · · , xi, · · · , xi, · · · , xn, a1, · · · , an) = 0, Dn(x1, · · · , xn, a1, · · · , ai, · · · , ai, · · · , an) = 0,

· 1 ·



:�K
G(x1, · · · , xn, a1, · · · , an) =

∏

16i<j6n

(xi − xj)
∏

16i<j6n

(aj − ai) · G1(x1, · · · , xn, a1, · · · , an).

LJM�N�O
xi # aj ����� ( '�� n − 1 � ), :�G G1 = cn ��P�Q�R�� .

4�5

Dn(x1, · · · , xn, a1, · · · , an) =

∏

16i<j6n

(xi − xj)
∏

16i<j6n

(aj − ai) · cn

∏

16i,j6n

(xi − aj)
.

S 4
[(xn − an)Dn(x1, · · · , xn, a1, · · · , an)]xn=an

= Dn−1(x1, · · · , xn−1, a1, · · · , an−1),T�U
(

∏

16i<j6n−1

(xi − xj)

)

(x1 − an) · · · (xn−1 − an)

(

∏

16i<j6n−1

(aj − ai)

)

(an − a1) · · · (an − an−1) · cn

(

∏

16i,j6n−1

(xi − aj)

)

(an − a1) · · · (an − an−1)(x1 − an) · · · (xn−1 − an)

=

∏

16i<j6n−1

(xi − xj)
∏

16i<j6n−1

(aj − ai) · cn

∏

16i,j6n−1

(xi − aj)
= Dn−1(x1, · · · , xn−1, a1, · · · , an−1),

:�K cn = cn−1. V 5�W ; , 2�X�:�K cn = c1 = 1.
4 9

Dn(x1, · · · , xn, a1, · · · , an) =

∏

16i<j6n

(xi − xj)(aj − ai)

∏

16i,j6n

(xi − aj)
.

��

11–2

1. Y�Z�[�\�]�������^�_�?�@�\�]������ :

(1) x2
1x2 + x1x

2
2 + x2

1x3 + x1x
2
3 + x2

2x3 + x2x
2
3;

(2) x2
1x

2
2 + x2

1x
2
3 + x2

1x
2
4 + x2

2x
2
3 + x2

2x
2
4 + x2

3x
2
4;

(3) (x1 + x2)(x1 + x3)(x2 + x3);

(4) (x1x2 + x3)(x1x3 + x2)(x2x3 + x1);

(5) (x2
1 + x2

2)(x
2
1 + x2

3)(x
2
2 + x2

3);

(6) (x1 + x2 + x1x2)(x2 + x3 + x2x3)(x1 + x3 + x1x3).B
: (1) D`� = x1x2(x1 +x2 +x3)+x1x3(x1 +x2 +x3)+x2x3(x1 +x2 +x3)−3x1x2x3 = σ1σ2−3σ3.

(2) 2 2 0 0 σ2
2

2 1 1 0 σ1σ3

1 1 1 1 σ44�5 D�� = σ2
2 + Aσ1σ3 + Bσ4.a

x1 = x2 = x3 = 1, x4 = 0, K 3 = 9 + 3A, A = −2;a
x1 = x2 = x3 = x4 = 1, K B = 2;b D�� = σ2

2 − 2σ1σ3 + 2σ4.

(3) D�� = (σ1 − x3)(σ1 − x2)(σ1 − x1) = σ3
1 − σ1σ

2
1 + σ2σ1 − σ3 = σ1σ2 − σ3.

(4) D�� = 1
σ3

(σ3 + x2
3)(σ3 + x2

2)(σ3 + x2
1).
HJI

x2
1 + x2

2 + x2
3 = σ2

1 − 2σ2,

· 2 ·



x2
1x

2
2 + x2

1x
2
3 + x2

2x
2
3 = σ2

2 − 2σ1σ3,

x2
1x

2
2x

2
3 = σ2

3 ,

D�� =
1

σ3
(σ3

3 + (σ1 − 2σ2)σ
2
3 + (σ2

2 − σ1σ3)σ3 + σ2
3)

= σ2
1σ3 − 2σ1σ3 + σ2

2 − 2σ2σ3 + σ2
3 + σ3.

(5) D�� = (x2
1 + x2

2 + x2
3 − x2

3)(x
2
1 + x2

2 + x2
3 − x2

2)(x
2
1 + x2

2 + x2
3 − x2

1)

= (σ2
1 − 2σ2 − x2

3)(σ
2
1 − 2σ2 − x2

2)(σ
2
1 − 2σ2 − x2

1)

= (σ2
1 − 2σ2 − x2

3)
3 − (σ2

1 − 2σ2 − x2
3)(σ

2
1 − 2σ2 − x2

3)
2 + (σ2

1 − 2σ1σ3)(σ
2
1 − 2σ2 − x2

3) − σ2
3

= σ2
1σ

2
2 − 2σ3

1σ3 − 2σ3
2 + 4σ1σ2σ3 − σ2

3

(6) D�� = 1
σ3

[(σ3 + σ2)
3 − σ2(σ3 + σ2)

2 + σ1σ3(σ3 + σ2) − σ2
3 ]

= 1
σ3

[σ3(σ3 + σ2)
2 + σ1σ3(σ3 + σ2) − σ2

3 ]

= σ2
2 + 2σ2σ3 + σ2

3 + σ1σ3 + σ1σ2 − σ2
3 .

2. Y�Z�[�\�]�������^�_�?�@ n ��\�]������ :

(1)
∑

x4
1; (2)

∑

x2
1x

2
2;

(3)
∑

x2
1x2x3; (4)

∑

x2
1x

2
2x3x4.B

: (1) σ4
1 − 4σ2

1σ2 + 2σ2
2 + 4σ1σ2 − 4σ4.

(2) σ2
2 − 2σ1σ3 + 2σ4.

(3) σ1σ3 − 4σ4.

(4) σ2σ4 − 4σ1σ5 + 9σ6.

3. � x1, x2, x3 ��c�d 3x3 − 5x2 + 1 ��e�Q�f . =�>
x3

1x2 + x1x
3
2 + x3

1x3 + x1x
3
3 + x3

2x3 + x2x
3
3.

B
: D�� = σ2

1σ2 − 2σ2
2 − σ1σ3 = 5

9
.

4. � xyz 6= 0, 0 x + y + z = 0, g :

x

y
+

y

x
+

x

z
+

z

x
+

y

z
+

z

y
.

B
: D�� = 1

xyz
(x2z + y2z + x2y + yz2 + xy2 + xz2)

= 1
xyz

((x + y + z)(xy + xz + yz) − 3xyz)

= −3.

5.
���

: e���c�d x3 + a1x
2 + a2x + a3 = 0 ��e�Q�f�h�[�i���@���j -�k�l�m�n �

2a3
1 − 9a1a2 + 27a3 = 0.

(�)
: e�Q�f�h�[�i���@���j -�k�l�m�n � U ? 3 Q��

x1 + x2 − 2x3, x1 + x3 − 2x2, x2 + x3 − 2x1,

,Jo�p�q P�Q�[ I 0.
b

e�Q�f�h�[�i���@ ⇐⇒ (x1 + x2 − 2x3)(x1 + x3 − 2x2)(x2 + x3 − 2x1) = 0.

· 3 ·



9
(x1 + x2 − 2x3)(x1 + x3 − 2x2)(x2 + x3 − 2x1)

= (x1 + x2 + x3 − 3x3)(x1 + x2 + x3 − 3x2)(x1 + x2 + x3 − 3x1)

= (−a1)
3 − 3(−a1)(−a1)

2 + 9a2(−a1) − 27(−a3)

= 2a3
1 − 9a1a2 + 27a3.

6. r n ������� f(x) ��f / x1, x2, · · · , xn, 9�� c 8�� f(x) ��f ,
���

:
n
∑

i=1

1

xi − c
= −f ′(c)

f(c)
.

(�)
: s�t������ f(x) = (x − x1)(x − x2) · · · (x − xn),

%

f ′(x) =

n
∑

i=1

f(x)

x − xi

,
f ′(x)

f(x)
=

n
∑

i=1

1

x − xi

,

u 9
n
∑

i=1

1

xi − c
= −f ′(c)

f(c)
.

∗7. � x1, x2, · · · , xn ��c�d
xn + a1x

n−1 + · · · + an = 0

��f ,
���

: x2, x3, · · · , xn ��\�]�������:�^�h x1 # a1, a2, · · · , an ������� .(�)
: �

f(x) = (x − x1)(x − x2) · · · (x − xn) =

n
∑

k=0

(−1)kakxn−k.

u 9
(x − x2) · · · (x − xn) =

f(x)

x − x1
=

f(x) − f(x1)

x − x1

=

n
∑

k=0

(−1)kakxn−k −
n
∑

k=0

(−1)kakxn−k
1

x − x1

=

n−1
∑

k=0

(−1)kak(xn−k−1 + xn−k−2x1 + · · · + xn−n−1).

H 2�v�P���G x ��w�����x���'�� x1 # a1, · · · , an ������� (a0 = 1),
u 9 x2, · · · , xn ��Z�[�\�]����

��� x1 # a1, · · · , an ������� , y�9 H \�]�������z�{�|�}�G x2, · · · , xn ��\�]�������:�^�h�� x1 #
a1, · · · , an ������� .

∗8. �
f(x) = (x − x1)(x − x2) · · · (x − xn)

= xn − σ1x
n−1 + · · · + (−1)nσn,

sk = xk
1 + xk

2 + · · · + xk
n, (k = 0, 1, 2, · · · ).

(1)
���

:

xk+1f ′(x) = (s0x
k + s1x

k−1 + · · · + sk−1x + sk)f(x) + g(x),+�,
g(x) ����� < n ~ g(x) = 0.

· 4 ·



(2)
�������

(Newton) ��� :

sk − σ1sk−1 + σ2sk−2 + · · · + (−1)k−1σk−1s1 + (−1)kkσk = 0 k 6 n,

sk − σ1sk−1 + · · · + (−1)nσnsk−n = 0 k > n.

(�)
: � g(x) =

n
∑

i=1

xk+1
i f(x)
x − xi

,
%

g(x) = 0 ~ deg g(x) < n. 9

xk+1f ′(x) − g(x) =
n
∑

i=1

xk+1f(x)

x − xi

−
n
∑

i=1

xk+1
i f(x)

x − xi

=

(

xk+1 − xk+1
i

x − xi

)

f(x)

=

n
∑

i=1

k
∑

j=0

(xk−jx
j
i f(x) =

k
∑

j=0

(

n
∑

i=1

(xk−jx
j
i

)

f(x)

=





k
∑

j=0

xk−jsj



 f(x) = (s0x
k + s1x

k−1 + · · · + sk−1x + sk)f(x).

� K T � .

(2)
LJM [��

xk+1f ′(x) = (s0x
k + s1x

k−1 + · · · + sk−1x + sk)f(x) + g(x)

N�O
n ����x�� ,

HJI
g(x) ����� < n ~ g(x) = 0,

T�U
xk+1f ′(x) � n ����x�� = (s0x

k + s1x
k−1 + · · · + sk−1x + sk)f(x) � n ����x�� ,

T�U 6
k 6 n 7 ,

(n − k)(−1)kσk = sk − σ1sk−1 + σ2sk−2 + · · · + (−1)kσks0,�
sk − σ1sk−1 + σ2sk−2 + · · · + (−1)k−1σk−1s1 + (−1)kkσk = 0.6

k > n,

0 = sk − σ1sk−1 + σ2sk−2 + · · · + (−1)nσnsk−n,� K T � .

∗9. Y�Z�[�\�]�������^�_ s2, s3, s4, s5.B
: s2 = σ2

1 − 2σ2,

s3 = σ3
1 − 3σ1σ2 + 3σ3,

s4 = σ4
1 − 4σ2

1σ2 + 2σ2
2 + 4σ1σ3 − 4σ4,

s5 = σ5
1 − 5σ3

1σ2 + 5σ1σ
2
2 + 5σ2

1σ3 − 5σ2σ3 − 5σ1σ4 + 5σ5.

��

11–3

1.
���J� ����?�@���� : � f(x), g(x) -�. � n ��# m ������� .

%
(1) Res(f, g) = (−1)mn Res(g, f);

(2) Res(af, bg) = ambn Res(f, g);

(3) Res((x − a)f, g) = g(a) Res(f, g).(�)
: (1), (2) ��� . � � (3). �

f(x) = a0x
n + a1x

n−1 + · · · + an, g(x) = b0x
m + b1x

m−1 + · · · + bm,

· 5 ·



%
(x − a)f(x) = a0x

n+1 + (a1 − a0a)xn + · · · + (an − an−1a)x − ana.

Res((x−a)f, g)=

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

a0 a1−a0a a2−a1a · · · an−an−1a −ana

a0 a1−a0a a2−a1a · · · an−an−1a −ana
. . .

. . .
. . . · · · . . .

. . .























n

a0 · · · · · · · · · an−an−1a −ana

b0 b1 b2 · · · bm−1 bm

b0 b1 b2 · · · bm−1 bm

. . .
. . .

. . . · · · . . .
. . .























m+1

b0 · · · · · · · · · bm−1 bm

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣��� P�@�� , w�@�� a ����v�P�@ , � o 2�v�P�@ , :�K

Res((x − a)f, g) =

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

a0 a1 a2 · · · an 0

a0 a1 a2 · · · an 0
. . .

. . .
. . . · · · . . .

. . .



















n

a0 · · · · · · · · · an 0

b0 b1+b0a b2+b1a+b0a
2 · · · · · · g(a) · · · g(a)am

b0 b1+b0a · · · · · · · · · · · · g(a)am−1

. . .
. . .

. . . · · · . . .
. . .

...



















m+1

b0 · · · · · · · · · · · · g(a)

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

∣

u 2�v�P�A�� , w�A�� (−a) ������P�A , ��� � n + 1 A , ����2�v�P�@���� , :�K
Res((x − a)f, g) = g(a) Res(f, g).

2. � f(x) = a(x − x1) · · · (x − xn), g(x) = b(x − y1) · · · (x − ym).���
: Res(f, g) = am

n
∏

i=1

g(xi) = (−1)mnbn
m
∏

j=1

f(yj) = ambn
n
∏

i=1

m
∏

j=1

(xi − yj).(�)
: Res(f, g)= am Res((x − x1) · · · (x − xn), g(x))

= amg(x1) Res((x − x2) · · · (x − xn), g(x))

= amg(x1)g(x2) · · · g(xn)

= ambn
n
∏

i=1

m
∏

j=1

(xi − yj) = (−1)mnbn
m
∏

j=1

f(yj).

3.
���

: Res(f(x), g1(x)g2(x)) = Res(f(x), g1(x)) Res(f(x), g2(x)).(�)
: �

g1(x) = a0(x − a1) · · · (x − an), g2(x) = b0(x − b1) · · · (x − bm),%
Res(f, g1g2) = (−1)deg f(deg g1g2) Res(g1g2, f)

= (−1)deg f(deg g1g2)a
deg f
0 b

deg f
0

n
∏

i=1

f(ai)

m
∏

j=1

f(bj)

= (−1)deg f(deg g1g2) Res(g1, f) Res(g2, f)

= Res(f, g1) Res(f, g2).

4. � f /�� P������ ,
���

: \���������� h, Res(f, g) = Res(f, g + hf).

· 6 ·



(�)
: � f(x) = (x − x1)(x − x2) · · · (x − xn), m = deg g,

%

Res(f, g + hf) =

n
∏

i=1

(g(xi) + h(xi)f(xi))

=

n
∏

i=1

g(xi) = Res(f, g).

5. � f(x) = a0x
n + a1x

n−1 + · · · + an−1x + an ∈ K[x],���
: f(x) ��� . �

D(f) = (−1)
n(n−1)

2 a−1
0 Res(f, f ′).(�)

: D(f)= a2n−2
0

∏

16i<j6n

(xi − xj)
2 = (−1)

n(n−1)
2 a2n−2

0

∏

i6=j

(xi − xj)

= (−1)
n(n−1)

2 a2n−2
0

n
∏

i=1

(xi − x1) · · · (xi − xi−1)(xi − xi+1) · · · (xi − xn)

= (−1)
n(n−1)

2 an−2
0

n
∏

i=1

f ′(xi)

= (−1)
n(n−1)

2 an−2
0 Res((x − x1) · · · (x − xn), f ′)

= (−1)
n(n−1)

2 a−1
0 Res(f, f ′).

6. =�>�?�@�������� � � :

(1) f(x) = x3 − 3x2 + 2x + 1, g(x) = 2x2 − x − 1;

(2) f(x) = 2x3 − 3x2 − x + 2, g(x) = x4 − 2x3 − 3x + 4;

(3) f(x) = xn + x + 1, g(x) = x2 − 3x + 2;

(4) f(x) = xn + 1, g(x) = (x − 1)n;

(5) f(x) = xn − 1
x − 1

, g(x) = xm − 1
x − 1

;

(6) f(x) = a0x
n + a1x

n−1 + · · · + an−1x + an,

g(x) = a0x
n−1 + a1x

n−2 + · · · + an−2x + an−1.B
: (1) Res(f, g) = (−1)2·3 Res(2x2 − x − 1, f) = (−1)6 · 23 · f

(

− 1
2

)

f(1) = −7.

(2) f(x), g(x)
q���� f 1,

T�U � � Res(f, g) = 0.

(3) Res(f, g) = (−1)2n(1 + 1 + 1)(2n + 2 + 1) = 3(2n + 3).

(4) Res(f, g) = (−1)n · 2n.

(5) (a) � (m, n) = d > 1,
% xn − 1

x − 1
# xm − 1

x − 1

q���� f ,
4�5

Res(f, g) = 0.

(b) � (m, n) = 1, 8���� n > m,
%

n = mq + r, 0 6 r < m. ��� (m, r) = 1.
%

xn − 1

x − 1
=

xmqxr − 1

x − 1
=

(xmq − 1)xr + xr − 1

x − 1
,

u 9
Res

(

xn − 1

x − 1
,

xm − 1

x − 1

)

= (−1)m−1)(n+r) Res

(

xr − 1

x − 1
,

xm − 1

x − 1

)

.��  ���
(m − 1)(n + r) P�|���¡�� .

� m − 1 ��¡�� ,
% ��¢ h�£ . ¤�� m − 1 ��¥�� ,

%
m / ¡�� ,

u 9 n ��¥�� , r &���¥�� ,
I �

n + r ��¡�� .
u 9

Res

(

xn − 1

x − 1
,

xm − 1

x − 1

)

= Res

(

xr − 1

x − 1
,

xm − 1

x − 1

)

.

· 7 ·



��Y r ¦ m, f�§�¨�©�ª�¦�«���D�} ,
H

(m, r) = 1 :�K
Res

(

xr − 1

x − 1
,

xm − 1

x − 1

)

= · · · = Res

(

xr′ − 1

x − 1
, 1

)

= 1.

� 6
(m, n) = 1 7 Res

(

xn − 1
x − 1

,
xm − 1
x − 1

)

= 1.

(6)
HJI

f(x) = xg(x) + an,
T�U

Res(f, g) = (−1)n(n−1) Res(g, f) = (−1)n(n−1) Res(g, an) = an−1
n .

7.
6

λ
a�¬�­ 7 , ?�@������ q���� f :

(1) f(x) = x3 − λx + 2, g(x) = x2 + λx + 2;

(2) f(x) = x3 + λx2 − 9, g(x) = x3 + λx − 3.B
: (1) Res(f, g) = −4(λ + 1)2(λ − 3),

b 6
λ = −1 ~ 3 7 q���� f .

(2) Res(f, g) = 9(λ2 + 12)(λ2 + 2),
b 6

λ = ±2
√

3i ~ ±
√

2i 7 q���� f .

8. g�?�@�®J¯�����°�±�²�c�d :

(1) x = t2 + t − 1, y = 2t2 + t − 1;

(2) x = t − 1
t2 + 1

, y = t2 + t − 1
t2 + 1

.B
: (1) 4x2 − 4xy + y2 + 5x − 3y + 1 = 0.

(2) 5x2 − 6xy + 2y2 + 5x − 3y + 1 = 0.

9.
6

λ / ¬�­ 7 , ?�@������ q�³ f ?

(1) f(x) = x3 − 3x + λ; (2) f(x) = x4 − 4x3 + (2 − λ)x2 + 2x − 2.B
: (1) 2,−2;

(2) −1,− 3
2

, 7
2

+ 9
2

√
3i, 7

2
− 9

2

√
3i.

10. g�?�@�c�d�´�� 1 :

(1)

{

5x2 − 6xy + 5y2 = 16,

2x2 − xy + y2 − x − y = 4;
(2)

{

x2 + y2 + 4x − 2y = −3,

x2 + 4xy − y2 + 10y = 9.B
: (1) Resy(f, g) = 32(y4 − y3 − 3y2 + y + 2),

{

x = 1

y = −1

{

x = −1

y = 1

{

x = 2

y = 2

(2) Resx(f, g) = 4(5x4 + 40x3 + 106x2 + 104x + 33),
{

x = −1

y = 2

{

x = −3

y = 0

{

x = −2 + 3
5

√
5

y = 1 + 1
5

√
5

{

x = −2− 3
5

√
5

y = 1 − 1
5

√
5

11. g�?�@�µJ¶�®J¯���·�¸�±�² :

(1) µ x2 + y2 − 3x − y = 0 #�¹�®J¯ x2 + 2xy − y2 − 4y − 2 = 0;

(2) ¹�®J¯ 4x2 − 7xy + y2 + 13x − 2y − 3 = 0 #�¹�®J¯ 9x2 − 14xy + y2 + 28x − 4y − 5 = 0.B
: (1) (1,−1),

(

3
2

+ 1
2

√
2,

1
2

+
√

2
)

,
(

3
2

− 1
2

√
2, 1

2
−
√

2
)

;

(2) (0,−1), (1, 2), (2, 3), (−2, 1).
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